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14  +  2
3

 - 1
5

 = Reduce 6
38

 to its lowest 

terms.

Write the reciprocal.
19

3 2
5

7 1
4+

6 2
11

3 7
11+

7  x 4
9

 = 

2
3

 ÷ 3
10

 = 1 2
6

 x  4 6
8

 = Change 280
45

 to a mixed 

number.

Reduce 9
36

 to its lowest 

terms.

40 - 1
3

 = 15  -  4
5

 - 5
12

 =
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Twenty-nine less than 6 times a number is 19.
What is the number?

A number plus 65 is one hundred 
thirty-eight. What is the number?

251 exceeds two times a number by 75. 
What is the number?

Seventy-one more than a number is one 
hundred thirty-eight. What is the number?
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3 4 5 6
- 3

1 5
- 1 5

0 6
- 6

0

4 8 9 6
-

-

-

5 8 5 5

8 3 4 8 0 7 9 0 4 4 6 8 3 7 0
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Anna worked her fingers to 

the bone. Last week she 

worked 3 1
3

 hours Monday, 

6 hours Tuesday, 4 3
4

 

hours Wednesday, and 5 2
3

 hours Thursday. She makes 

$7 per hour. How much did 

she make last week?

Ava mailed invitations to 
her birthday party on 
March 23. Her birthday 
is exactly two weeks 
later. On what date is 
her birthday?

Connor could run the 
1000 meters in 5.2 
minutes. At that rate, 
how long would it take 
him to run 2 kilometers?

4 2
- 2 6

Write a letter that has two or 
more lines of symmetry.

Circle the addition property 
for 77 + 161 = 161 + 77.

associative property
commutative property

4 3 3
+ 2 1 6

Which has the smallest answer?
341 x 210 359 x 210 358 x 210

1 lb = 16 oz

23 lb = oz

In the number 210,052,469, the digit 5 is in 
what place? 2 4

+ 4 5

6 8 1
- 1 2 0
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Can you draw ONE line going through ALL the circles?  Your line can go left, right,
up, or down.  It cannot go diagonally.  Your line cannot cross over any part of 
the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The puzzle on the left shows a correct line going through all the circles.

Finish the line: Finish the line:

Jessica wants to call April.  
April is on vacation in Asia.  It 
is a time difference of 
thirteen hours.  April's time is 
always later than Jessica's 
time.  If it is 4:41 P.M. where 
Jessica lives, then what time is 
it where April is?

Can 708 be evenly divided by 6? Circle:
708 is evenly divisible by 6
708 is NOT evenly divisible by 6

28 cm = mm
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How many feet are in 72 inches?

 feet

Hannah multiplied two one-digit 
numbers and then added 116.  The 
result was 164.  Rosa does not 
believe her and thinks Hannah 
made a mistake.  Who is correct?

54 ÷ 9 = 
A 8 cm x 8 cm x 8 cube was made by Eric.  He used 
centimeter blocks.  How many blocks did he use?

Rosa invented a robot.  The robot's name 
is Connor.  Connor can go a maximum 
speed of 4 mph.  At that rate, how long 
would it take Connor to go 7 miles?

Write this as a number in standard form.  
Use a comma in your number.

nine hundred fifty-four thousand,  two 
hundred fourteen

48 ÷ 4 = 
What can you multiply by 10 to 
get 9?

Circle the smallest number:
56,980

5,948,673
21,008,379,214

427,516,384,032

word root ial can mean related to centennial, convivial, perennial

Conjugate this verb in the perfect tense
drive

48 ÷ 8 = 

7 x 9 = 
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5 - 0 = 2 + 3 + 3 4 8 1 9 4 3 5
7 = 2 2

Use the pieces above to help you fill in the runaway math puzzle.

The principal of your school wants to buy fifty-one 
books.  Each book costs $12.60.  She wants to 
estimate how much it will cost.  Show her how you 
would estimate the cost:

How many digits are in ten 
times ten?

word root mar can mean sea submarine, marina

Write a synonym for this word.
aroma

Add the correct end punctuation for 
this sentence.
I just want winter to be over

x

1 1 = 2 3

+ + = 2

x 7 3 4 7 ÷

9 + 0 = 5 + 2 8

= 6 7 ÷ = 7

2 =

7 2 1 ÷ 7 =

9 8 0 8

x ÷ 0

x 8 = 4 0 +

= = 4

7 x 6 4

4

https://www.mathworksheets.com


Name:
Week of July 15
MathWorksheets.com

<
True False

>
True False

=
True False

=
True False

=
True False

<
True False

Did you find that two are true?  If not, look again!
You should only mark TRUE if you are absolutely sure it is correct!
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
17 2

3
is the sum

8 2
38 2
3 7 1

27 1
2

5 1
35 1
3

-3 5
6-3 5
6

17 2
3

is the sum

7 1
2 8 2

38 2
3

-3 5
6-3 5
6

5 1
35 1
3

16 19
21

is the sum

8 2
3 1 1

61 1
6

-3
7
-3
7

7 1
27 1
2

8 2
3

 + 7 1
2

 + 5 1
3

 + -3 5
6 8 2

3
 + 1 1

6
 + -3

7
 + 7 1

2

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: -3 5
6

, -2 5
9

,  or -3
7

.

The other three numbers have to all be DIFFERENT and must be from these: 7 1
2

, 5 1
3

, 1 1
6

, 

or 8 2
3

.

14 31
42

5 1
35 1
3 8 2

38 2
3

-3
7
-3
7

1 1
61 1
6

8 2
3 7 1

2

-3
7

5 1
3

16 19
21

7 1
2

-3
7
-3
7

8 2
38 2
3

1 1
61 1
6

21 1
14

-3
7 5 1

3

8 2
38 2
3

7 1
2

14 7
9

8 2
38 2
3 -2 5

9

1 1
6

7 1
2

18 17
18

-2 5
9 7 1

2

5 1
3

8 2
3

13 4
7

7 1
2 5 1

3

1 1
6

-3
7

17 2
3

5 1
3 8 2

3

7 1
2

-3 5
6

13 4
7

-3
7 1 1

6

7 1
2

5 1
35 1
3

12 11
18

1 1
6 5 1

3

8 2
3

-2 5
9-2 5
9

5 1
3 1 1

6

-3
7

8 2
38 2
3

1 1
6 7 1

2

-3 5
6

8 2
38 2
3
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: -1 1
3

, -1
2

,  or -3 2
3

.

The other three numbers have to all be DIFFERENT and must be from these: 9 1
3

, 1
3

, 3 2
3

, or 

6 1
3

.

18 5
6

6 1
36 1
3 9 1

39 1
3

-1
2
-1
2

3 2
33 2
3

9 1
3 -1 1

3

6 1
3

1
3
1
3

18-1 1
3 6 1

3

3 2
33 2
3

9 1
3

18 5
6

6 1
3

-1
2
-1
2

3 2
33 2
3

9 1
3

189 1
39 1
3 -1 1

3

3 2
3

6 1
3

9-1 1
3 6 1

36 1
3

1
3

3 2
3

14 2
3

6 1
3 -1 1

3

9 1
3

1
3

18-1 1
3 6 1

3

9 1
3

3 2
3

14 2
3

1
3 -1 1

3

6 1
3

9 1
3

18-1 1
3 6 1

3

3 2
3

9 1
3

14 2
3

6 1
3 -1 1

3

1
3

9 1
3

12-1 1
3

1
3

3 2
3

9 1
3

12 1
3

6 1
3 -3 2

3

9 1
3

1
3

15 2
3

-3 2
3 6 1

3

9 1
3

3 2
3

15 2
3

6 1
3 -3 2

3

9 1
3

3 2
3

9 2
3

-3 2
3

1
3

9 1
3

3 2
3

15 1
2

9 1
3 6 1

3

1
3

-1
2

9 5
6

6 1
3

-1
2

3 2
3

1
3

-1
2 9 1

3

3 2
3

6 1
3

9 1
3

1
3

3 2
3

-1
2
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A printer can print 40 pages in 4 minutes. 
How many pages can the printer print in 
one minute?

How many pages can the printer print in 
one hour?

A book scanner can scan 96 words in 4 
minutes. How many words does the book 
scanner scan per minute?

Jessica babysat Emily and was paid $102 for 
6 hours of work. How much was she paid 
per hour?

She plans to babysit Emily next week and will 
be paid at the same rate. If she works 7 
hours next week, how much will she be paid?

It takes Sarah 30 seconds to fill a water 
bottle. How long would it take her to fill 3 
water bottles?

Ava decided to help Sarah fill 3 water 
bottles. How long do you think it will take for 
them to work together to fill 3 bottles?
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Draw 3 pictures in the correct order.  Use each of the clues so you will know what to draw.

Draw 1 of these 3 pictures.
The picture is NOT in the correct spot.

Draw 1 of these 3 pictures.
The picture is NOT in the correct spot.

Draw 1 of these 3 pictures.
The picture is NOT in the correct spot.

Draw 2 of these 3 pictures.
The pictures to use are in the correct spot.

Draw the 3 pictures in the correct order:

Draw 4 pictures in the correct order.  Use each of the clues so you will know what to draw.

Draw 1 of these 4 pictures.
The picture IS in the correct spot.

Draw 1 of these 4 pictures.
The picture IS in the correct spot.

Draw 1 of these 4 pictures.
The picture is NOT in the correct spot.

Draw 2 of these 4 pictures.
1 of those pictures is in the correct spot.

Draw 1 of these 4 pictures.
The picture IS in the correct spot.

Draw the 4 pictures in the correct order:
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y

x0
1 2 3 4 5 6 7 8

1

2

3

4

5

6

7

8

ow

m

n

f k

r

h

d
n (6, 8) r

h k

o w

f m

y

x0
1 2 3 4 5 6 7 8

1

2

3

4

5

6

7

8
Plot o at (5, 1). Plot n at (1, 7).

Plot b at (1, 6). Plot h at (7, 7).

Plot d at (5, 4). Plot w at (8, 5).

Plot m at (0, 6). Plot f at (6, 4).

y

x0
1 2 3 4 5 6 7 8

6

12

18

24

30

36

42

48

The equation y = 6x is drawn.

What is the value of y if x is 4?

What is the value of y if x is 8?

What is the value of y if x is 2.5?
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Multiply

x 0 1 2 3 4 5 6 7 8 9 10 11 12

2 2

3 6

4 36

5 35

6 24

7 84

8 88

9 90

10 80

11 0

12 36

12 x 12 = 2 x 5 = 10 x 7 = 7 x 11 = 2 x 3 =

3 x 5 = 0 x 5 = 8 x 1 = 6 x 12 = 3 x 12 =

10 x 8 = 1 x 7 = 2 x 12 = 5 x 2 = 4 x 7 =

4 x 0 = 9 x 8 = 3 x 11 = 7 x 2 = 9 x 11 =
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Words can be to the RIGHT, DOWN, LEFT, or UP.  Every letter is used ONCE.
C M C D E W S E I T I R A H C
O E R N E T T I M B L I N K
A M A T T P O P U L A T I O N
L O C S I N Y B E S P O O N T
B R K U E U A L O R T N O C O
E I E R D T H H S I L O B A Y
A E R S R E H T A F D N A R G
T S S S E N T I M E N T A LWrite the words found.

SENTIMENTAL GRANDFATHERS

Can 473 be evenly divided by 4? Circle:
473 is evenly divisible by 4
473 is NOT evenly divisible by 4

Hannah has two favorite 
numbers.  If you add her 
favorite numbers, you get 25.  
If you multiply her favorite 
numbers, you get 114.  What 
are her mystery numbers?

Write the missing family fact.

48 + 33 = 81
81 - 33 = 48
81 - 48 = 33

Justin invented a robotic bug.  The bug 
can crawl six centimeters in twenty-one 
seconds.  How long would it take the bug 
to crawl fifty-six centimeters?

word root oid can mean appearance asteroid, android
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